Problems discussed in the videos:

Videos (1) — (3)

Question 9.47

Show how to accomplish the fallowing conversion using reagents from the table.

—).. H

0O

When only one enantiomer is shown, it is to indicate relative stereocchemistry. Reactants andior products are racemic.

A: (CH3z);COK* B: 0s04, H:02 C: HCI D: peracid, CH:Clz
E: HBr F: Brg, CCls G: 1. BH= H: HIO,

2. Hz0;, NaOH
I: H:0/H:504 J:  Brg, heat K: 1. 03, L: MNaCl

2. (CHs)2S

Videos (4) — (5)

Question 8.28

Choose areagent fram the list E
to bring about the following conversion:

CH
HBC/\\V 3 — HBC,/\\/\BF

A) NBS, CH,Cl,, light B) FeBrs, THF C) HBr, dark
D) NaBr, acetone E) Brp, CH,Cly F) BrCH,CH;
G) BBrs H) NaCl, NaBr, H,O I) HBr, peroxides

CHECK ANSWER



Videos (6) — (7)

Question 10.35

Devise a route to carry out the following conversion:

Specify, in order, the reagents you would use to carry it out.
The reaction may require more than one step. Ifthere is more than one feasible route, show only one.

Specify reagents using letters from the table, first reagent an the left.

Example: ab
a SOCl,, pyridine e NaNH; /NH3 i 1. NaNH, /NH3
2. H0O
b H3PO4, heat f HyCrOy4 j CHasl
¢ Hy0, H;S0,4 g 1.0s04/H20, k  0s04/H203
2. HIO,
d PCC h  Hz/Lindlar catalyst | 1.BH;
2. H20;, NaCH

The reagents are (in order of use):




Videos (8) — (9)
Question 10.45
Using the reagents listed in the takble below, devise routes for the following transfarmations:

Br OH

Specify the reagents you would use to carry them out.
Ifthere is more than one feasible route, show only one.

Specify reagents using letters from the table.

Example: a
a NBS e NaNH; /NH; i HO
b HyPOy, heat f HyCrO, j CH;OH
¢ H,0, H,80, g HIO, k  0s04H,0,
d PCC h  Hga/ Lindlar catalyst | 1.BH,
2. Hz05, NaOH

The reagents are (in order of use}:

for step A

far step B:



Videos (10) - (12)

Question 7.8

The following synthesis requires mare than one step. Specify the reagents you would use to carry it out.
Specify reagents using letters from the table, first reagent on the left
Example: ab

NN, ——— N

Matice that there are two possibilities given: NalH- and MalH- in combination with water.

a Br, e NaNH, /NH; i 1. NaNH, /NH;
2. H,0
b D0 f CHsl i NaBH,
¢ H;0 g CH5CH,l k  KOH (ethanol)
d CHsCH,CH,Br b Hs /[ Lindlar catalyst | 1.BHs
2. H,0,, NaOH
The reagents are {in arder of usaej:
Video (13)
Question 7.14
Show how to convert 9-octadecynoeic acid
18 o}
SN 1

OH

to (Z)-9-Octadecenoic acid (oleic acid). Choose the reagents you would use to carry cut the reaction from the following table. The reaction may require more than one step. If two or more
of conversion to the same product are possible, show only ane of them.

5|3E-CIT_. r-:—a;-:—nts Lsing letters from the tahle, first rE-C-li_:E-I'lt on the left.
Example: ab
a Bry /CH4COOH, LiBr e 2mol Br, i NaNH, / NHj
b 1.) 2molNa /NH; () f Hy /Ni i NaBH,
2.) HCl
¢ 2mol H,0 g 2molHy / Ni k  KOH (ethanol)
d 0s0y4/H,0, h  Hz/Pd/CaCOq | 1.)BH;
(Lindlar catalyst) 2.} H,05, NaOH

The reagents are {in order of use}:



